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(DB)stLt23/-7|0S/67H E 67 344 3.26 3.31
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DBXIZ 2 8/871013/14 4
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(DB)BKA =23 S/l9s/1d e 330 3.80 3.10
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YAletR % 2 8/87|0)3/2 4 =
OBMEH =2 8/H7 e 24 380 400 350
e TR ol8/34 o 340 380 380
jststx 2 8/87|013/670 =
OB HZ 2 8/57] el B 330 340 3.80
ELECE T a2 ™ 400 3.30 340
jstetr % 2 87|01 3/2 4 =
(DB)SHSI M =2 5/24 PXE] 4.00 3.80 3.30
)eHetN S e d/gol03/34 = 3
(DB)THIOf N = 28/ % = 34 3.00 3.80 .80
e CHUE L 2 28 38
(DBUTEIO M =28 /K 70| 2, ZL: 14 .50 80 80
(DBYTHOf K= 22/ 87 s 24 3.60 230 2.80
=¥/87|015/34 2 260 390 230
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(DB)BNKEA= /223 °© L EVE] 425 340 360
/212 2 2 HE/67N Y 3
(DB)BNKEAIS H/22| 22 AD) = B E] 4.00 3.40 .65
CEE >
DA T S e e 400 370 375
At 1= Rl g < 4.00 3.70 370
(DB)BNKTAIS 2/22| 3 2 ZELB/1H oNg 400 3.70 3.70
(DB)BNKTAIS 2/22| 3 2 HELB/2 = 395 370 370
(DB)BNKEAS H/2| 2 = 24 - . .
H/el2| 2 2 AELB/3 3 37
(DB)BNKEAHS /2 < = 34 3.70 80 70
EXSH/ YR 2 EADLB/1 S =
(DB)BNKEAIZ /2 ZDLE/1d P 360 3.60 3.80
EXS /Y22 EEDLB/RY =l
(DB)BNKEAS goLe/2d e 395 360 3.60
ENKE S /e 32 B0Le/5a 3 370 380 360
OB 51 = X1 /823 = Bee/ S 2 ' 3 3
(DBt £ XIS/ EI S EHELB/1 ; hg i.go SIZS 3.28
DB)SISIEAIS SELB/1 2 q 85 ! !
EDB;;;}ZM:E/%a\%m&ms/zg ;L: 205 370 360
Sl EAHS H/elel 3 2 HEB/3E — 375 390 375
(DB)DBE B At/ 22| 3 = HELE/1 = . 3.90 3.95
< - . B
(DB)DB2 S EAl/ a2 % = 14
OBDEI SRRl geLe/2d T 433 3.90 3.95
OB S8 T/Ac 52 SELE Y = 433 387 3.95
JDBS 8 TR/ 8213 2 BDLB/1 & 433 387 387
(DB)DB= 8 F A/ E‘%igDLB/ZS 14 - - :
(DB)DB2 S/ 2EE = 24 - - 3.87
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DB)MAA Y/ oleEEHEY/ 2 24 2.85 2.75 2.85
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= !
DO=oIes/E7 |03 EESH8)30 £l 27 270 2.95
S/o7 3o S48)34 3 75

(DO =28 /X7|0|2/670L = 3.00 2.50 268
(DO)=sE /X 7(02/1d ] 308 2.80 250
OOsHe /A0 14 350 305 278
(DOs& /7|0 2/3 24 300 335 315
DO=E2/E702/53 3 570 3.00 335

(DOEU2Y/H = 54 y 300
ks /47|10 2(CIZESMB)/3H = 2.60 2.70 :
OOFEE /AN i:J >80 260 2.80
PR E e 17"3 376 2.80 270
DO HZZ/H7|02/671E 37H:EJ 346 335 2.90
OOR=EAZE/A 0=/ 67"3 356 335 335
DO A2 8/H7|0|2/14 9 'I:é 366 345 335
(DC)‘.’_*;-_I.‘E;l A= g/H702/184 2 - 1;‘11 376 351 345
pOF=EAZE/Ar0a2d 8 “f 5 358 357
— == [E

e Q¥ 5= /8710 2/34 i; 315 - 368

=] =
RS 8/HNSCIEESH )3 3 3.20 315 337
= 3.40 3.20 3.05
3.30 3.00
3.10




(DOt F23/ 871013 /670 ] 3.40 3.20 3.20
oo/ 4710314 14 3.65 3.40 3.50
oot/ 70324 24 3.20 3.00 3.00
ootiT2d/47(0334 34 3.05 2.90 2.90
oot/ d7(03/54 54 2.60 2.60 2.60

ooBg2d/g700330e 30 3.25 3.10 3.10

ooBdg2d/87I03/670 [ 3.40 3.20 3.20
ooZged/d710314 14 3.70 3.60 3.62
(oogdeged 4710324 2d 3.10 3.00 3.10
oo g2d/4710334 3d 3.00 3.00 3.00
(DOR A2 /7I0Z /1 14 3.68 3.55 355
(DoA™ 70324 24 335 3.10 3.10
(DOR A2 /F7I013 /3¢ 34 3.20 3.00 3.00

DOFEYENZ2¥/57|0q 314 14 4.00 3.80 3.70
(DOFEY=MF2H/G7I03/24 2d 4.00 3.80 3.70
OOHEHMZ2H/ 470314 14 3.50 3.50 3.50
(DOH M =28/ 7(015/24 24 3.20 3.20 3.20
OOHEHMZ2H/47(03/34 3d 3.00 3.00 3.00
(DO)ROIEIM = 28/F7|03/1d 14 4.00 3.75 3.70
(DORREIMF28/8 7|0 5/2E 24 3.70 3.45 3.40
(DO)ROIEM = 28/87|05/3d 3d 3.40 3.15 3.10
oOcHEME2d/g7(0a1E 14 3.90 3.75 375
(DOt Xz2d/47(03/24 24 3.70 3.60 3.60
oOcHEeME2d//g7 (0334 3d 3.50 3.40 3.40
(DOUTH=28/87108/370E EUE] 1.85 1.95 1.90
(DOITH=2¥/87|03/670 2 (] 2.25 235 2.30

(DOUTH=28/87108/1d 14 3.70 3.85 375

(DOITH=28/871013/2H 24 2.25 235 2.30

(DOUTH=28/871018/3d 3d 2.25 235 2.30

(DOOKKN =Z2/4705/1E 14 3.81 3.71 3.71

(DOOKMH2#/F7|0 /2 24 3.00 3.00 3.00

(DO)SBIX=2d/871013/1 14 4.10 3.70 3.70

(DOSBIX=28/87103/2 24 3.70 3.20 3.20

(DO)SBIX =2/871013/3H 34 3.60 3.00 3.00

(DONHM=2¥/87(013/14 14 3.60 3.40 3.40

(DONHM=28/747(05/2E9 24 3.10 3.10 3.10

(DQ)IBKMZ2d/47(03/14 14 3.90 3.72 3.52

(DO)IBKAMZ-23/87(05/2E 24 2.90 2.70 2.70

(DQ)IBKAM =244 7(013/34 3d 2.90 2.70 2.70

(DOHIEZXZ2d/47103/1E 14 3.90 3.75 3.65
(DOHIEEXF2d/47(013/24 24 3.00 3.00 3.00
(DOHIEZXZ2W/47105/3E 34 3.00 3.00 3.00
OOUAXF2H/Z7(03/14 14 3.90 3.60 3.70
(DO AAF2H /g7 (03/29 24 3.40 3.40 3.40
DOUAXF2H/Z7(03/34 3d 3.40 3.40 3.40
(DO H2A/H7105/1E 14 3.80 3.55 3.40
(OISR F2d /4701324 24 3.20 3.00 2.90
(DOMBNZ2A/H705/3E 3d 3.10 2.90 2.80
(DQOSBX=28/87|03/1 14 4.10 3.90 3.70
(DO H2d/g7(03/67 E 64 e 3.80 3.60 3.60
(DO EEMF2d/47(03/14 14 3.80 3.60 3.60
(DO sttN HZ2d /470 5/2E 2d 2.80 2.60 2.60
(DO EEtM H2d/47(03/34 3d 2.30 2.10 2.10
(DODBMZ=2¥/F7I0=/1d 14 3.85 3.60 3.50




(DCTHIOi A = 2e//87|018/1d 14 3.50 3.80 3.60
(DOITE XM =2 /87| 0 2/2d 24 2.50 2.80 2.60
(DCUTHION A = 2e/78 7015 /3d 34 2.50 2.80 2.60
(DOZOIMF2¥ /470314 14 3.90 330 3.00
(DO)ZOHMF2/747(0l3/29 2d 3.50 3.00 2.50
(DOZOLMF2¥/47(013/34 3d 3.30 3.00 2.50
OOAHMF 2703 1E 14 3.85 3.70 375
(DORSH=28/7103/3708 3he 2.30 2.30 2.20
(DOF2M=28/87103/670E [ 3.00 3.00 2.90
(DOOIF2XN=2d/H7|05/1d 14 3.85 3.70 3.60
(DOR2HMEF2/F705/2d 2d 3.70 3.50 3.45
(DOOIF2X=2/87|05/3H 3d 3.60 330 330
(OO MF2H/ 7031 14 3.70 3.60 3.50
(DO MF2H/H7(03/24 24 3.00 3.00 3.00
(DO MF2H/ 70334 34 2.70 2.70 270
DOYIZHEXN=2/H7|05/1d 14 340 3.40 340
(OO0 =28/57|013/2d 24 2.90 2.90 2.90
(DOYIZHE XN =2/87|05/3H 3d 2.60 2.60 2.60
(DOADEEXNZ28/87103/370E 3H 2.10 2.00 2.00
(DOAOENZ28/87|08/670E (] 3.30 3.20 3.20
(DOADEEXMZ2/F7|031d 14 4.00 3.90 3.80
(DOAOEMZ23/87|0 8/ 24 3.30 3.20 3.20
(DOADIEXNZ28/F7|05/3d 3d 3.30 3.20 3.20
(DOO[H NS /el S 2 FELB/37HE g 3.85 3.75 3.80
(DOoIEHo NS /el S EFEB/1E 14 3.85 375 3.80
(DODIH NS /el 3 2 HELB/18IHE 1871 - - 3.90
(DO OIEHo NS /el S 2 FELB/2H 24 3.85 375 3.80
(DOO[H NS /el 5 2 YELB/3YE 34 3.85 3.75 3.80
(DONHEXHS /22| 3 2 ZEB/3HE EUE] 3.84 3.75 3.82
(DONHEXHS H/2| S EFEL/MNE 14 3.84 3.75 3.82
(DONHEXHS 2/3l2| 3 2 YELB/2Y 24 3.79 3.75 3.81
(DONHEXHS H/32| S EFELB/3E 34 3.74 3.75 3.80
(DOABHEXISH/ el SEHELB/3/HE e 3.85 375 3.80
DO EXS /e S 2 YELB/1Y 14 3.85 3.75 3.80
(DOABHEXISH/ el S ETELB/187HE 18748 - - 3.90
(DOLBHEXRS /e S 2 YELB/2Y 24 3.85 3.75 3.80
(DOABHEXIS M/ el S 2 FELB/3H 3d 3.84 375 3.80
(DOKBS #/R 2|22 FELB/37H E 3he 3.85 3.75 3.80
(DOKBE#/2el 2 HELB/1E 14 3.85 375 3.80
(DOKBZ /A2l 2 HELB/18IHE 1871 - - 3.90
(DOKBE#/2e| F 2 HELB/ 2 24 3.85 375 3.80
(DOKBS #/# 2| 22 FELB/3E 34 3.85 3.75 3.80
DOCHAHE M/ el g 2 FEL/1E 14 3.85 378 3.80
(DOTAS H/ 2| S ETELB/R2Y 2d 3.85 3.78 3.80
OOUAS /el SEHELB/3HE EYE] 3.85 375 3.80
OO AS /el 2 ZELB/1H 14 3.85 375 3.80
DOt S /el S EHELB/187HE 18708 - - 3.80
OO AS /el S 2 ZELB/ 2 24 3.85 375 3.80
DO S /e S EHELB/3E 3d 3.85 375 3.80
(DO)BILIS H/2le| S EZELB/3HE g 3.85 3.75 3.80
(DO)SHLISJ/2lel F 2 HELB/1E 14 3.85 375 3.80
(DO)SILIS H/ 22 S ETYELB/1870 E 1871 - - 3.85
(DO)SHLISJ/2le F 2 HELB/ 2 24 3.85 375 3.80
(DO)3ILIS H/ el S ETYELB/3H 34 3.85 3.75 3.80
DOYESH/HESEHELB/3HE EYE] 3.85 375 3.80
DO S/l SEZELB/1H 14 3.85 375 381
DOYYS /RIS EHELB2E 24 3.85 375 3.81
DO S A/l S2ZELB/3H 34 3.84 374 3.80




(DC)DB2 & EXl/ 2| S EHELB/1HE 14 433 3.87 3.87
(DC)DBZ & A/ el SR FELB2Y 24 433 3.87 3.87
(DC)DB2 & EXl/ 2| S EHELB/3HE 34 433 - 3.87
(DO)DBE & FAl/elZ2EDLB/1d 14 - 3.97 3.97
(DC)DB2 &AL/ 2|2 EHDLBR2YE 24 - 3.97 3.97
(DO)DBE & FAl/2lZ2EDLB/3Y 3d - - 3.97
DO7 IS5 H/HelSEHELB/3/HE EUE 3.70 3.70 375
(D07 2T H/HelSEHELB/67HE 671 3.70 3.70 375
(DO)?7| 25/l SEHELB/1H 14 375 3.80 3.85
(D07 2TH/HelZEHELBRE 24 - - -
(DO)?| 25 /2 S EHELB/3E 3d - - -
(D072 5H/HelZEHELB/SE 54 - - -
DOnE S/l 2 HELB/1 14 3.65 3.95 -
DOnEFH/HeZEHELBRY 24 3.55 3.70 -
DOnE S/l 22 HELB/3Y 34 345 3.65 -
(DOuESH/Ael32EDLB/1E 14 3.65 3.95 3.95
(DORESH/Ae| 22 EDLB/2E 24 3.55 3.70 370
(DOuESH/Ael32EDLB/3E 34 345 3.65 3.65
(DO)SkB2/Rlel 32 HELB/3/HE EUE] - 430 430
(DO)SkE#/#e| 32 HELB/67H E (] - 430 430
(DO)SKZH/2lelZ 2 HELB/1E 14 - 4.50 455
(DO)SkE#/fle| 5 2 FELB/2d 24 - 4.50 4.55
(DO)SkEZ#/flel 3 2 FELB/3E 34 - 4.50 455
(DOBNKFAIS H/R 2l S 2 HELB/37H & g 4.00 3.70 3.70
(DO)BNKE XIS /B S 2 HELB/67H E (] 4.00 3.70 3.70
(DOBNKFAIS H/22l 32 FDLB/3HE 3he 4.00 3.70 3.70
(DOBNKSFAHS #/2l2| 3 2 DLB/67HE (] 4.00 3.70 3.70
(DOBNKEAIS H/2 2l S 2 FELB/1E 14 3.95 3.80 3.80
(DOBNKSFAS #/@2l 2 2EDLB/1d 14 3.95 3.80 3.80
(DOBNKFAIS H/2 2l 5 2 FELB/2E 24 3.70 3.60 3.60
(DOBNKSFAHS #/@l2| 2 2 EDLB/2Y 24 3.70 3.60 3.60
(DOBNKEAIS H/2 2l 5 2 FELB/3d 34 3.60 3.60 3.60
(DOBNKSFAHS #/@l2| 2 2 EDLB/3d 3d 3.60 3.60 3.60
(DQIBKFAIS H/ 25 2 HELB/67H & (] 3.80 3.62 3.85
(DO)IBKEAIS /2 S EHELB/1E 14 3.95 3.77 3.90
DORIEASH/AE S 2 YELB/1YE 14 - 4.60 440
CORIUEASH/AS2EDLIB/1E 14 - 4.60 4.40
DO EASH/ e S 2T/ E 3he 3.85 3.70 375
DO EASH/ /el S EFEB/1E 14 4.05 3.90 3.95
DO EASH/ e S 2 YELB/2Y 2d 3.75 3.90 3.95
(DOTHt =R S /2| 2 2 YELB/3E 3d - 3.90 3.95
(DOuE| =5 /A2 S ETEL/NE g 3.50 3.00 3.00
oouE| =5 H/2le 3 2 YELB/67H Y (A 3.70 3.70 3.10
OOHE| =5 H/8elg 2 PE/NE 14 3.80 3.30 3.50
DO2| =5 /e g 2 FELB/2H 24 3.85 335 3.60
OO 2| =5 H/8le|g 2 PELB/3d 34 4.05 3.40 3.65
DO2| =5 /el 2 FELB/SsH 54 4.25 3.40 375
(DOH2| =5 /A2 S ETYDLB/3NE g 3.50 3.00 3.00
oozl =5/l 32 EDLB/67HE (A 3.70 3.70 3.10
(DOH2| =5 /el 2EDLB/1E 14 3.80 3.30 3.50
(DOH2| =5 H/HEF2YDLB/2H 24 3.85 335 3.60
(DOH2| =5 /2|3 2EDLB/3E 34 4.05 3.40 3.65
(DOH2| =35 H/H2 32 YDLB/5H 54 4.25 3.40 375




1™ 370 H832l F0|IRPE]
(PI1EY :'24.03.01 / Tl ¥, MIT, %)
T2 429 o7 =871
2024.01.01~2024.01.31 2024.02.01~2024.02.29 2024.03.01~2024.03.31
(IRP)SH= EXHS #/RP/1E 14 3.51 3.51 351
(RP)I=EEXS /2 S 2 YELB/3NE 3he 3.85 3.75 3.80
KA B ALE (RPII=EXEH/ el S EHELB/1E 14 3.85 3.75 3.80
(RP)I =T EXIS /22 S 2 FELB/187H E 1871 3.90
(RPSI=ZE XIS /2| ZEFELB/2E 2d 3.85 3.75 3.80
(RPSIZEXS /2 EYELB/3E 34 3.85 375 3.80
(RP)22|2/871013/370E EUE 3.50 343 3.10
(RP)2E| 28/ 7[013/67H 6718 3.50 3.39 3.20
sk ik [ 3.60 345 345
(RP)R2|28/87|013/2d 24 3.20 3.00 3.00
(RP) 22| 28/F7|05/3d 34 3.10 2.80 2.80
(IRP)22| 28,870 2/54 54 2.90 2.60 2.60
(RP)2E| 28,470 S(CIZEESME)3H 3d 3.20 2.90 2.90
(RP RIS/ 710013 /670E (] 3.30 3.10 3.15
(IRP)AI B2 8/ 7|0 2/113 1d 3.50 335 3.37
(RP) A B2 8/ 7101 3/2d 24 3.00 2.98 2.9
(RP) Mot 8/ g705/3d 3d 2.70 2.75 2.71
(RP)AIEH2 /Y705 /5E 54 2.60 267 271
(RPAEH2 B/ F7| 0 S(CIZEESME)3E 34 2.80 2.85 2.81
(RP)&H2/F71013/670E (] 3.34 3.34 3.34
(RPAI 28/ |0 5/1d 14 3.50 3.34 3.40
(RP) M2/ Y70 5/2E 24 3.25 3.09 2.97
(RP) A 28/F7015/3d 3d 3.00 3.00 2.78
(RP) M2/ Y7105 /5 54 2.81 2.81 2.65
(IRP)SHLF2 2/ 71015 /670 & 670 e - - 321
(RP)SILF2 8/ F21013/1d 14 - - 333
(RP)SHLF2 /7|05 /2 2 - - 2.90
(IRP)BILF2 3/ 7]013/3d 34 - - 270
(IRP)SILI2 8/ 70 5/5d 54 - - 2.50
(IRP)2HZ/Z71013/370E EE] 3.50 330 3.15
(RP) M= /Y 7I0lS/67H & 67 3.60 335 3.15
(IRP)2H =70 3/14 14 375 3.40 335
(RP) M= /G 7I013/249 24 3.20 3.00 3.00
(RP) M =/Z703/3¢ 34 3.05 2.90 275
(RP) M=/ Z7I013/54 54 3.00 2.70 2.60
(RP)Z BI22/F7|015/670 & 64 e 3.25 3.03 3.05
(RP)ZEI2E/FI05/1d 14 3.52 3.31 3.35
(RP)= 22/ Y70 5/2E 2d 3.00 295 2.95
(RP)Z BI28/F705/3d 3d 2.90 2.70 2.68
(IR )= e2/F7108/5d 54 2.75 2.50 2.50
(RPFE28/F7|0S(CIZESME)3E 3d 3.00 2.80 2.78
(RP)sE2A/Z7103/670E (] 3.28 3.05 3.15
(RP)SH2E/Z7(08/14 14 3.50 335 3.35
(RP)sHE2A/Z7105/2E 2d 3.00 3.00 3.00
(RP)sE28/57|013/3d 34 2.70 2.70 2.80
(RP)sH2H/Z7105/54 54 2.60 2.60 2.70
(RPSHE28/F7|0SCIEESME)3E 3d 2.80 2.80 2.90
(RPSH=ZHS8/Z7IU0S/174E 1hg 3.46 3.35 3.35
(RPYSH=SHZE/7103374E 370g 3.46 335 335
(RPSI=SHS8/Z7I0S/674 2 (] 3.56 3.45 345
(RPZH=SHZE/Z7I013/970 e U] 3.66 3.51 3.57
(RPSH=ZHF8/Z7I0314 14 3.76 3.58 3.68
(RPZH=SAZE/F7I05/24 24 3.15 3.15 3.05
(RPZH=ZAHFE/H7|0Z/3E 34 3.20 3.20 3.00
(RPIZZAS/F7I0SCIBESHE)3E 3d 3.40 330 3.10
(RP)CHF+2/871013 /670 & 6713 3.40 3.20 3.20
(RP)CHF28/F105/1d 14 3.65 340 3.50
(IRP)CHF23/H 7|0l /2 2 3.20 3.00 3.00
(RP)CHT28/87015/3d 3d 3.05 2.90 2.90
(RP)CHF2/87|0 5 /5 5134 2.60 2.60 2.60




EFALH]

of
or

3

o

(RPZH2S
(IRP)E ;éijgﬂml%/am%
(IRP)ZA ‘a*%ﬁ"/c;:lqlg/wﬂg o
(1RP)Z gg;/iwgﬂ . iy 3
(RP)Z gg;/;ﬂoug/z'-.j 2 3‘25
(|RP>$&%§/Z7M§BE - 3.40
(IRP#&%;/:M%” : e 3‘70 310
(IRP)$ﬁg; :7|0ﬂ§/25 14 .10 3.20
(mp)&%gi%:/oojwﬂ%/ag = . 3.60 :
(IRP)—Ey—%gﬁH::%"‘/’g EEUE T . 3.00 :
EE x1;qu?j'1/ B71012,/28 S . 3.00 3.62
RPHEAES EIEELEATE = . 3.55 3.10
(RP)EITH x1;§§./j7|01|%/2'ﬂ = 4‘00 3.10 :
(IRP)%‘.’JEM‘I—?F:;;{."7|01|E.‘/3‘5 i . 3.00 :
(IRP)%@EW;;;;@”W%” - 34 .50 3.80 3.10
(IRP)TOF%EW;;;@ — 14 3.20 3.80 3.00
(|Rp>cr%x1;glﬁi?7|01|g/35 = . :.50 3.70
H:'
(W)nf%ﬂ%%ﬂ/m |2/24 = = 37 |
PITH = 2¥/8 s e 3 .5 .20
(IRP)JTK1§%:M/;7|°1|%/37H% i 3.90 3.45 3.00
(IRP)Jmégzo“;ijg/m i e 3';0 :'1 5 370
(RPUTHE S8/ 7|01|%/1 E] Sl 1.82 3;5 :
(IRP)JTX‘I?%&M/Z it 2 2-2 .0 3.10
(IRP)OKH—.’:—RZM Z’flmlg/za i : | 3.40 |
(lRP)omé;;/;’ EEGE 5 2-70 1.95 3.60
(\RP)SBIK1§;:“/:7|°1|—S‘/2'-3 = 2.25 : 3.40
(\RP)SBIX1§;;/,:7| CEE! T 3-25 3.85 1.90
(\RP)SB|x1;;:“/:j7I o323 = 3‘81 2 2.30
(\RP)NHX‘|§;§“/ EGETEE i 4-00 : 3.75
(\RP)NHK1§;:“/;7|°1|%/1 El = 3.10 3.71 :
(IRP)\BKX1§;§,/,:7| ol 3/21 i 3-70 3.00 2.30
(IRP)\BKX1%$—;:"/:7\ EERE! - 3.60 3.70 3.71
(lRP)\Bmé;;/;’ﬂ o =/24 i 3-60 3.20 3.00
(IRP)H}EH%;S%/;E lo13/34 = 3.10 3.00 3.70
(lRP)Hrgﬂééﬁo";;;'mI%ﬁ El 5 Zgg 2?0 :.20
R [03/24 = : 3. | .OO
R ;7|°1|E,L/3|‘_j PYE] 3' 0 72 3.40
(|Rp>cnux1§£a§/f7|m|g/1 E i . : 3.10
(IRP)EH’L‘X‘I?éauﬁj e S . ZO 3.52
(|Rp)ossx1§gsc»: ;7|°1|—S‘/3L3 = : .5 2.70
(IRP)"JQH%%;/ ;7\ o319 T 3-40 3.00 2.70
(IRP)\*JEFK1§2;/;7|°1|—S‘/1 E = 3.40 3.00 3.65
(|Rp)t|§rx-|§;:u/7:7lqlg/25 14 4" 0 3.60 3.00
RPSSHESH, GV = . 3.40 3.00
“RPE@W?;A ;ﬂm@/mng 34 3-80 340 370
(|Rp)§r§rx1§£§,,/ ;7 EERE e 3.20 3490 |
(lRP)§§+x1§§§./;7lmla/zLj o 3-10 3.55 3.40
URP)DBH;;J/J”W%BE 24 3~30 3.00 370
Tore 7(1%;;!07' NERE 33 2‘80 2.90 3.40
(RP)TEIOf x1;£:,/ §7| EERE = 2.80 3460 |
(IRP)JT&OHH%;;/ f J1012/24 o 3-30 3.60 2.80
(|RP)Eorx1§£sfif7|0ﬂ%/3Lj = 3.85 : 360
“RP)EOM‘léé;i;ﬂql%ﬂ : - 228 §'1O 3.60
(|RP)Eorx1§2:u ;’7|°1|—S‘/2L3 - . : 260
2d/87|013/34 = . 3.80 |
L 3H - 2.60 =
I_ 20 2.80 20
3.30 = -
3.00 0
3.00 =
2.50
2.50




(RPUHKMZ2A/F7|053/1d 14 3.85 3.70 375
(RP)OHF2XH2¥/H7(03/371E B 2.30 2.30 2.20
(RP)OHFR2X =2/ Y7I03/67HE 671 3.00 3.00 2.90

(IRPYOF X Z28/47|05/14 14 3.85 3.70 3.60
(RP)OHF RN H28/F7|0 /2 2d 3.70 3.50 3.45
(IRPYO 72X =28/47|05/39 3d 3.60 330 330

(RP XM Z2/F7|05/1d 14 3.70 3.60 3.50

(RP XN =28/57015/24d 24 3.00 3.00 3.00

(RP) B X =22/87|015/3d 34 2.70 2.70 2.70

(IRP)O 7} 2K =28/ 7|0 5/19 14 340 340 340
(RP)IZIHA N Z28/87| 0 /2 2d 2.90 2.90 2.90
(IRP)O| 7} 2K = 28/ 7|0l 5/3 9 3d 2.60 2.60 2.60
(RPADIEXZ2¥/Y7|013/37E 3He 2.10 2.00 2.00
(RP)ADIEXZ28/47|0l5/67H & e 330 3.20 3.20
(RPADIEX Z23/F7|0 /1 14 4.00 3.90 3.80
(RP)ADIEXZ28/47|0]5/21d 24 3.30 3.20 3.20
(RPADIEX Z23/87|0 /34 34 3.30 3.20 3.20
(RP)D|2HO NS /22| S 2 ZELB/3HE 3he 3.85 3.75 3.80
(IRP)O|2HOI M B3/ RlelZ 2 FELB/1E 14 3.85 375 3.80
(RP)D|HO NS /22| S 2 FELB/187H & 187Hg - - 3.90
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